Name:

Date:

Teacher:

Class:

Division 508

Which is the longest word in the dictionary? "Smiles".
Because there is a mile between each "s"!

Divide these numbers.

L 14+ 6. 70+7= °1. 18 +6 = 6 28+7=
2 6+ 27 +7= 2. 56 +7 = 7 T72+6=
% 84+ 8. 21+7= B 35+7= B 24+6=
4 48 =+ 29 63 +7= > 36 +6 = 9 60+6=
5 42+ 3049 +7= 42 +7= 8. 77 +7=
6 12+ 54+ 6= % 30+6= 8L 66+6=
56+ 2 6+6= . 7+7= 8 30+6=
ST+ 8. 35+7= 58. 14+ 7= 8. 54+ 6=
> 6+ 3. 70+7= 5. 7+7= 84. 35+ 7=
- 60 = . 14+7= 0. 24+6= 8 49+7=
121+ % 28+7= oL 6= 8 77+7=
66+ 7. 56+7= 62 6+ 6= 87. 49 +7 =
B 42+ B 7+7= 6. 60 + 6 = 8. 42+ 7=
412 B 63+7 = 6. 24+6= 8 72:6=
1549 + 4. §+6 = 65. 7 + 7 = —90 14 = 7 =
16. 84 + 4. 18 + 6 = 6. 5+ = 9. 49+ 7 =
7. 18 + 2. 91 +7= 67. 77 = 92 G=L@=
o 54+ 3. 66+ 6= 68. 48 + 6 = 9. 36+ 6=
928 = M. 21+7= 6. 60+ 6 = 9. 70+7=
20. 24 + 45. A9 7 = 70 6+6= 9. 77 7=
S 4. 35+7= L 30+6= %. 60+ 6=
22. 14 + 7. 66 = 2. 727 = T o7 49 ~ 7 =
= 84+ 8. 12+6= 28+ 7= % 42+6=
2. 66 + ® 77+7= % 63+7= 9 BG+7=
2. 72 = 5. 36+ 6= 5. 727 = —100'6+6:
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Answer Key Date:
Teacher: Class:
Division 508

Which is the longest word in the dictionary? "Smiles".

Because there is a mile between each "s"!

Divide these numbers.

L 14+7=2 6. 70 +7=10 1. 18 +6=3 6. 28+7=4
2. 6+6=1 21. 7+7=1 5. 56+ 7= 8 7. 72+6= 12
3. 84+7=12 28 21+7=3 8. 35+7=5 8. 24+6=4
4 48+6=8 2. 63+7=9 5. 36+ 6= 6 9 60+ 6= 10
5 42+6=7 0. 49+7=7 55. 42 +7=6 8. 77 +7=11
6. 12+6=2 3. 54+6=9 5. 30+6=5 8. 66+ 6= 11
. 56+7=28 2. g+6=1 5. 7+7=1 2 30:6=5
& 7+7=1 8. 35+7=5 8. 14+7=2 8. 54+6=9
> 6+6=1 ¥ 70+7=10 5 7+7=1 8. 35+7=5
10. 60 +6 =10 3. 14-7=2 60. 24+6=4 8. 497 =7
Ho21+-7=3 % 28+7=4 6. 6+6=1 8. 77+7=11
2 66+6=11 3. 56+7=38 62. 6+6=1 8. 49+7=7
B 42:6=7 . 7.721 63 60+6= 10 8 42+7=6
Wo12+6=2 3. 63+7=9 64 24+ 6 = 4 8. 72+6= 12
B 49+7=17 0. 6+6=1 65. 7+7=1 0. 14+7=2
16. 84+7=12 41. 18+6:ﬁ6' 6-6=1 9. 49 +-7=7
18+6=3 4 21+7=3 6 7:7=1 2 6+6=1
1 54+6=9 3 66+6=11 68 48-6=8 %8 36+6=6
19 28+7=4 4. 21 +7=3 % 60+6=10 % 70+7=10
0. 24 +6=4 8. 42+7=06 0. g+6=1 %. 77+7=11
2L 7+7=1 46 35+7=5 .30+6=5 % 60+6=10
2 14+7=2 4. 6+6=1 2. 7+7=1 7. 49+7=7
% 84+7=12 4 12:6=2 3 28+7=4 8. 42+6=7
24 66+6=11 49 77-7=11 ™ 63+7=09 9. 56+7=8
25. 72 +=6= 12 5. 36+6= 6 5. 07+7=1 1000 g~ 6= 1
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